Progress test 10 Uni

ts 19 and 20

Choose the correct answer, A, B or C.

1 If you feel unwell, you should ............ going to bed for a few hours.
A try B totry C trying
2 The boy was ............ of breaking into the house on the corner.
A suspected B committed C arrested
3 Lisaenjoys............ up early and goes running every morning.
A getting B toget C get
4 Isn’tittimeyou............ a holiday somewhere warm?
A have taken B take C took
5 [I've cut my knee, so | need to get ............ .
A aplaster B atablet C some syrup
6 A police officer was ............ outside the house all night.
A onduty B on purpose C ondisplay
7 My sister had to take her coat to the ............ when it got stained.
A dressmaker’s B drycleaner’s C tailor
8 You surely haven’t forgotten ............ by the pitch to support the team all those years ago?
A stand B tostand C standing
9 The.......... is between the ankle and the thigh.
A knee B wrist C waist
10 Iregretnot ............ my bike last night as it’s been stolen.
A lock B locking C tolock
11 Your ............ is between your wrist and your shoulder.
A jaw B chest C elbow
12 The doctor asked me if I'd had any ............ of the illness.
A symptoms B bruises C bugs
13 There were some nice jeans ............ , so | bought them.
A on balance B on offer C onaverage
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Can you remember ............ that letter when you go out?

A to post B post C posting
If they can’t start the car, they should try ............ it downhill.

A topush B push C pushing
How about ............ your breath for a minute, if you have hiccups?

A hold B to hold C holding
What do you mean ............ about the mess you’ve made in the kitchen?

A todo B doing C do
A is usually made up of 12 people and they decide if you’re innocent or guilty.
A court B trial C jury

We stopped ............ a coffee break at about 11.00 when we were tired.

A to have B having C have
The burglar was charged ............ stealing money and jewellery.

A of B from C with

The police officer made a note of the car parked outside the bank as it looked ............ .

A suspicious B quilty C criminal
Pete had his chest examined in the doctor’s ............ near his home.

A ward B surgery C hospital
Many people believe that the ............ should fit the crime.

A offence B criminal C punishment
| think it’s time for us ............ home now.

A go B went C togo

You'll never ............ taking your dad’s credit card unnoticed.

A get through B get away with C getacross
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